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Model Paper Biology Objective
Intermediate Part — | (11" Class) Examination Session 2015-2017 and onward
Total marks: 17  Paper Code Time Allowed: 20 minutes

Note:- You have four choices for each objective type question as A, B, C and D. The choice which you
think is correct; fill that circle in front of that question number. Use marker or pen to fill the circles.
Cutting or filling two or more circles will result in zero mark in that question.

Q.1 QUESTIONS (A) (B) (O) (D)

I | The study of tissues is called paleontology anatomy histology Evolution

2 The percentage of water in 70% 60% 50% 40%
bacterial cell is

3 The optimum pH value for. 4.0 35 3.0 20
pepsin enzyme in stomach is

4 Ve Linge dissoyeand teosl] mitochondria lysosomes ribosomes Chloroplast
organelle
In classification the order of

5 Fa—— poales anthophyta plantae Poaceae

6 e bactei v 1u_ﬂ ot atrichous monotrichous | lophotrichous | Amphitrichous
flagella at one pole is called

7 | Apicomplexans move by tube feet pseudopodia undulating Flexing

g The skeleton of arthropoda is e it polpsascherides lignin
made of
Unequal development of

9 | various branches during webbing fusion overtopping planation
evolution Of leaf is

10 [T;'he mode SR Ingestion Absorption Photosynthesis | Chemosynthesis

ungi as

11 | Scorpion belongs to class crustacea insecta arachnida myriapoda

12 Oxygen prod.uced during O, H,0 NADP FAD
photosynthesis comes from

13 | The colour of xanthophylls is blue red green yellow

14 | Rodents are herbivores detritivores carnivores omnivores

15 | The diameter of bronchiole is 3mm 2mm Imm 0.lmm
The ions involved in the .

: : : . ; magnesium

16 | opening and closing of sodium calcium potassium
stomala are
Attraction between water-

17 | water molecules in xylum tension adhesion cohesion imbibition
tissue is called




Model Paper Biology Subjective

Intermediate Part — | (11" Class) Examination Session 2015-2017 and onward

Total marks: 68 Time: 2:40 hours
Section Il
Q.2 Attempt any EIGHT short questions. (8x2=16)
i. Define the biological method.
ii. Differentiate between theory and law.
iii. Define conjugated molecules with two examples.
iv. Define carbohydrates.
V. Define cofactor and write its functions.
vi. Compare competitive and non competitive inhibitor.

vii.  Differentiate between diploblastic and triploblastic animals.
viii.  Define blastocoel.

X, Write any two beneficial effects of insects,
X. Differentiate between coelomate and acoelomate.
X1, Differentiate between systole and diastole.

xii.  What do you know about blue babies?

Q.3 Attempl any EIGHT Short questions. (8x2=16)
3, Define pili with their functions.
i. Describe briefly about giant amoeba.
ii. Draw the life cycle of plasmodium.
v, Write down any two characteristic of Ciliates.
V. Define Kelps. With which group it belongs?
Vi. Compare microphyll with megaphyll leaves.

vii.  Write the significance of double fertilization.
viil.  What are accessory pigments? write their significance.

I Define glycolysis and how many ATP molecules are formed in this
process.

X. Define adipose tissues. How are they formed.

Xl. What is hunger pang? write its reason.

xii.  Write two side effect of obesity.

Q.4  Attempt any SIX Short questions. (6x2=12)
1. Write the main points of cell theory.
il. Write the method to calculate the magnification power of compound
microscope.
iii. Write down botanical names of Amaltas and Brinjal.
iv. Describe symptoms of hepatitis.
V. Define dikaryotic hyphae.
Vi. Compare basidiospores with ascoscopes.
vii.  Briefly describe Asthma.
viii.  Write the roles of nose in man.
IX. Define respiratory distress syndrome.

SECTION 111
Attempt any three questions. (8x3=24)

Q5(a). Write in detail two hypothesis for opening and closing of stomata.

(b) Describe two to five kingdom system of classification.
Q6(a). Discuss any four functions of proteins.

(b) Describe plastids with their types.
Q7(a) Explain characteristics of cyanobacteria.

(b) Write various steps of evolution of leaf.
Q8.(a) Write a note on transport of oxygen in man.

(b) Elaborate the non cyclic phosphorylation with the help of diagram.

Q9.(a) Explain digestion in stomach.
(b) Write a note on Zygomycetes.

(2+2)
(0+4)
(4)
(1+3)
(4)
(4)
(4)
(3+1)
(4)
(4)



MODEL PAPER “BUSINESS MATHEMATICS”

Time: 15Minutes

Intermediate Part-I1 Examination

OBJECTIVE

Marks: 10

Q.No.1.Note:Write answers to the questions on the objective answer sheet provided.
You have four choices for each objective type question as A, B, C, and D. The choice
which vou think is correct; fill the circle in front of that question number. Use marker or
pen to iill the circles. Cutting or filling to or more circles will result in zero mark in that
question. Attempt as many questions as given in objective-type question paper and leave
others blank.

(1)

(ii)

(iii)

(iv)

(v)

(vi)

(vii)

(viii)

(ix)

(x)

The ratio between 2.5 kg and 4.5 kg is
(a) 2:5 (b) 5:9 (c) 9:5 (d) None of these

The regular, periodic and fixed sequence of savings/ payments/installments is
called.

(a) Annuity

(¢) compound interest

(b) simple interest
(d) none of these

If each payment is made at the end of each payment period and continue for a
definite period then the type of annuity used is

(a) per-petuity (b) annuity due

(¢) ordinary annuity (d) none of these

y=3x +4 is an:
(a) explicit function
(¢) constant function

(b) implicit function
(d) quadratic function

The equation 3** +9= 10.3% is called:
(a) quadratic equation (b) homogeneous equation
(c) irrational equation (d)exponential equation

A liner equation has always

(a) three roots  (b) two roots (c) one root (d) none of these

If A is a matrix of order mxn then to get AB, the order of matrix B must be
(a) mxm (b) pxn (c) nxp (d) none of these

2 2
The matrix [ ] is
3 g

(a) singular (b) non singular (c) diagonal (d) none of these
The no system with base 2 is known as
(a) binary system (b) decimal system

(¢) sexagesimal system (d) none of these

S in binary system is

(a) 10 (b) 101 (c) 11 (d) none of these

| ) P |
.{‘,rﬂﬁ Y }] Y : , tl‘]\
c |U { \l\;\h
Ay gy XY 8
i T i L P N .5
r = AV 0
X
7 &N



MODEL PAPER “BUSINESS MATHEMATICS”

Intermediate Part-1 Examination

Time: 1:45Hours Marks: 40
SECTION -1
Q.No.2. Write short answers to any Six (6) questions. 2x6=12

(1) 35 is what percent of 175

(ii) IfA:B=2:5&B:C=10:15find A:B:C

(ii1) Find x 1f45: 60 :: 900 : x

(iv) Write the formula for compound interest.

(v) What principal is needed so that the interest will be Rs.48 if it is invested at 3%
per annum for 5 years?

(vi)  Find the simple interest on Rs.500 invested for 6 months at 8% per annum.

(vii)  Define term of the annuity.

(viii)  Define even function.

{ix)  Find x-intercept and y — intercept from the equation 8x — 3y = 15

Q.No.3. Write short answers to any Six (6) questions. 2x6= 12
(1) Ify=21-9x,then findyifx=9.1

(i)  Define degree of an equation.

(iii) 12 times a no is 240, what is the no?

(iv) Write two consecutive integers where sum is 41

is singular,

2 1
(v) Find the value of x if ( ]
3 x
” 2 5
V) FindBir2B+| =0

" 1 2 1
(vit) IfA= { 3 ,find A

(viii)  Simplify (1001 ); x (101),
(ix)  Convert (10001); to base 10

SECTION -1I

Note: - Attempt any TWO questions. 2x8=16

Q.No4. (a) A production manager plan to produce units with the help of 25 workers who
workers 4 hours a day. How many units 40 workers can make it, they work 3 hours
per day?

(b) Find the simple interest on Rs.8000, for 40 days at 10% per annum,
(Take 1 year = 365 days).

Q.No5. (a) if Ax) =0.005 x + 0.80 then ﬁnd_}‘“(%) andf(% ) ?

(b) Solve the equation% - % = 4

Q.No6. (a) Solve for x ., y and z, if (x Y J
y Z

+
Y
ro
-t
|
&
b S
Il
y a—— .
= "A)
w o
R . g

3y

(b) Simplify (11011), x (1101), LP




Note:- You have four choices for cach objective type question as A, B, C and D.

Model Paper Chemistry Objective

Intermediate Part — | (11™ Class) Examination Session 2015-2017 and onward

Total marks: 17

Paper Code

Time Allowed: 20 minutes

The choice which

you think is correct: fill that cirele in front of that question number, Use marker or pen to fill the
_circles, Cutting or filling two or more. circles will result in zero mark in that question,

L

¥

6

-1

i hguid. s called its
The boiling point of water at

(}u-. sHion

A

B |

S

C-HO

CLLO

CTO-

F'The number of molecules
present in 9.0 gm ot pure

Waket dre

3.01 ~ 107

6.02 < 107

The drying agent used in a

desiceator 1y

The hthmt tx.mpt.r aure at
which a substance can exist as

\1num Lverest is

Lithium

_Chloride

Sodium _
Chloride

A—

9.03 « 107

" Potassium
Chloride

[)'_

a0

120 - 107

Caletum

Chloride

Transition
Temperature

more thun one crystalline
Forns is kunown as

lhc Seientist C had\\lnl\ n
1932 discovered

I'he existence of an element in

847C

Allotropy

lhc alues of Quianttum
numbr:n lor 3P mblll | are

The wn‘upnund which follows

| octect rule for bonding 1s

The Ilis_hut percentage of
| ionic LlldI‘dLlLl 15 1N
| The amount of Teat absm bed

~can be obtained by
F he salt dlwul\td in water

when one mole of gascous
~atoms are formed Irom the
“element under standard

. conditions is called

In Taber™s process. the
maximum vield of ammeonia

- lorms a solution with pH
_sreater than 7 1y

Fnthalpy of

Enthalpy of

[:nthalpy of

. Critical
Absolute Consolute | T
['emperature
O9"'C , 74C 79°C
- i ;
Isotropy i Aniosotropy Entropy
e — i, —_— I
Proton Neutron Flectron
n l.1=1 n=2.1=1 o od.e =
NaCf B/, Pls
§13 1! 1H{Br

IPositron

Enthalpy of

“The clevation of hmllm, poml
ot 0.1 molal solution § s

The oxidation number of
COxyvgen in O 15 o

In Lead Aceumulator cell. the
'_L‘iLLIIUI\IL used i3

Sucrose s converted into
CGlucose and (ructose by
_enzyme catalyst called

Iovertase

Maltase

I'ormation atontization reaction combustion
[nereasing Decreusing Inereasing [nereasing
Pressure pressure volume temperature
Na(f | NaxCOp CuSQ, NH,(f
| |
0.0032°C ! 0.032°C | 0.527( 3.2
o i I R
+ 1 | ~1 : 2 | -2
f— i _— - : _ ___;_ -
20 % HaS0, 30 9% 180, 40 Y 180, 30 %o HASO,

Zymase




Model Paper Chemistry Subjective

Intermediate Part — | (11" Class) Examination Session 2015-2017 and onward

Total marks: 68 Time: 2:40 hours
SECTION e |
2. Answer any Eight parcts from the followings:- 8§ x1=1¢
(1) The removal of an electron from a neutral atom fs an endothermic process. Fxplain with reason.
(11) Actual yield s always less than theoretical vield, Give two reasons,

any - Caleulate the no. of molecules present in 34 ¢ of H3 PO,

tihv)  Solventextraction ferns the Distribution Law. Justily.

{v) Define sublimation. Give one example.

{(vi) Caleulate the value of General Gas constant in ST units.

(viiy - Pilots feel uncomtortable breathing at higher attitude. Give reason.

(viny o Gases deviate from ideal behaviour at low temperature and high pressure. Give reasons.
(1xy - Table salt 1s an msulator in sohd state. Justity,

() Liguid erystals can be used in diagonosis of Cancer. Explain,

(X0} [vaporation is a couvling process. Give reason.

ixity  Graphite has shppery touch. Give reason.

3. Answer any Eight parts from the fellowings:- 8 x2=16
() Positive rays are also called canal rays. Give reason.
(i) The radius of first orbit of hydrogen atom is 0.529 A™. Caleulate the radius ot 3™ orbit of

hvdrogen atom.
(uiy - txplam stark ettect.
(1v)  Pressure can eftect the production of Cathode Rays,
(V) Dipole moment of COx s zero. While that of 11,015 1.83 DL Explain.
(viy o Lxplain the geometry of HaSe molecule.
(vil}  Electronegativity increases from 1eft to right in periodic table. Give reason.
(vini) - Sketeh the molecular orbital picture of O,
(x)  Lnthalpy s a state function. Justity.
(X} Born Haber’s Cyele s another form of Hess™s Law. Justify.
(xty  Buflers are important in many areas ol Chemistry, Justify.
(x1) Define Le-Chatelier’s principle.

4. Answer any Six parts from the followings:- 6 x2=12
(i) Grive the applications of the solubility product.
{ii} Depression of (reezing point is a colligative property. Justity.

(iny  NaxSO; . 10110 shows discontinuous solubtlity curve. Give reason.
(v What is the molality of a solution prepared by dissolving 5 g of Glucose in 230g of water.

{\v) Electromotive loree can be calculated from clectrochemical series. Explain with reason.
(viy o Lead accumulators is 4 chargeable battery, Comment.
{(vity  Calculate the exidation number of chromium in; (a) K-CrQdy ik KaCraO4

(viiiy - Differentiate between average and instantaneous rate of reaction.
(1x) bExplain auto-catalvsis.

(P.T.0.)



(2)

SECTION —camvaceem
Note: Attempt any three questions. $x3=24)

Sy Whatare Londoen torces. Explain various lactors affecting it 4

{h) Mg reacts with HC( to give hydrogen gas. What is the minimum volume ot HC( solution

(27 % by weight) required to produce 16.1¢ of Hy. The density ol HC/ solution is .14 gfem”.
[\'lgu] + 2L gy \12( '-r._‘-|.'u1: ['[2[13] 4
6.(a) What is hybridization? Explain Sp” hybridization with exampie, 4

P

(b)  State first law of thermodsnamics and prove that - AL =,

T.(a)  Whatis Plasma? How st produced? Give its two applications. 4

(h)  Bescribe Milikian™s Ol Drop method tor the measurement of charge ol an ¢lectron. 4

8. (a) What is Standard Hydrogen Electrade (SHLEY? ow 1s 1t used for the

measurement of electrode potential. 4

{h) Calculate the pH ol a butter solution in which .11 M CHCOONa and 0.09 M.
acetic acid solutions are present. K, for C11;COOH is1.85 ~ 107 . 4
9. ()} Lxplan Roult’s Law when both components are velatile. 4

(b) Define order ol reaction. How doces half Bite method can be used (or its determination. 4
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COMMERCE GROUP
PART -1

Principles of Accounting Paper — I - - 100
Principles of Economics - == = 5

Principles of Commerce - e = 5

Business Mathematics --= == -= 50

PRINCIPLES OF ACCOUNTING -1
Marks: 100 PART -I(CLASS-XI) Time: 3:00 Hours

I. Introduction.—Definition, Basic concepts, Double Entry System of Book
Keeping, its objectives and advantages.

2. Accounting Cycle.—Accounting equation Journal, Ledger and Trial
balance.

3. Subsidiary Books Journals.—Cash Book, Petty Cash Book. Purchases,
Sales: purchases-Returns: Sales Returns; Bills-Receivable and Bill payable
books.

4. Banking Transactions.—Kind of bank accounts and procedure of recording
of banking transactions: cheques ; Cheque Register; Bank Reconciliation
Statement, its objectives and preparation.

S. Accounting for Bills of Exchange.—Definition and procedure.

0. Capital and Revenue.—Meaning—Distinction between Capital and
Revenue items: Receipts and Payments, Profits and Losses, Income and
Expenses.

7. Rectificaion of Errors. — Kinds of errors — correction of errors after and
before closing the books of accounts, suspense account.

8. Financial Statement. — Trading and profit and loss Account Income
Statement and Balance Sheet-form and its preparation.

9. Adjustments and Closing Process. Prepaid and Outstanding expenses

3}4@7 ///MJ kQ oA

Accrued and unearned income; provision for Bad and Doubtful Debt;
Provisions for Discount; Depreciation interest on capital and drawing, work
Sheet.

Principles of Accounting by Gul Zaman Qazi.
Asool-e-Mahasbi by Mobeen A. Khan.
[ntermediate Accounting by Rauf Baig.
Introduction to Accounting by Nisaruddin.
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MODEL PAPER “PRINCIPLES OF ACCOUNTING”
Intermediate (Part — |) Examination 2015
OBJECTIVE
Time: 30 Minutes Marks: 20

Q.No.1: Write answers to the questions on the objective answer sheet provided. You have four
choices far each objective type questions A, B, C & D. The choice which you think is correct, fill
the cile in front of that question number. Use Marker or Pen to fill the circles. Cutting or filling
twe or more circles will result in Zero mark in that question. Attempt as many questions as
4iven in objective type question Paper and leave others blank.

(i)

(ii)

(iii)

(iv)

(v)

(vi)

(wvii)

(viii)

(ix)

(x)

Accounting is the language of:

(a) Business (b) School

(c) America (d) Proprietor

A person to whom the goods or services are sold on credit basis is known as:
(a) Creditor (b) Proprietor

(c) Debtor (d) Investor

According to which Concept, an asset is recorded at a price at which it is acquired:
(a) Money Measurement Concept (b) Dual Aspect Concept

(c) Going Concern Concept (d) Realization Concept

All debts which are payable by a business to its investors and others are known as:
(a) Capital (b) Equities

(c) Expenses (d) Liabilities

The best system of accounting in the modern world is:

(a) Single entry system (b) Double entry system

(c) Multiple entry system (d) No entry system

Credit signifies:

(a) Increase in liability (b) Increase in revenue

(c) Increase in capital (d) All of these

It is also called “King” of all books of accounts:

(a) Journal (b) Ledger

(c) Trial balance (d) Final account

Ledger records transaction in an:

(a) Chronological order (b) Daily order

(c) Arithmetical order (d) Analytical order

A bill of exchange is an:

(a) Unconditional order (b) A promise

(c) A request (d) Conditional order

Interest on renewal of a bill is an expense to the:

(a) Acceptor (b) Drawer

(c) Endorsee (d) Endorser




3) An outstation cheque amount to Rs. 575 entered in cash book as paid into bank but has
not been collected by bank.
4) Bank charges Rs. 25 have not been entered in cash book.
5) Interest on Govt. securities Rs. 300 collected and credited in bank statement.
6) Interest charged by bank Rs.100
Required: Prepare a Bank Reconciliation Statement as on 31%* January, 2015.

Q.No.6: Following is the Trial Balance of Mukhtar Trading Co. as on 31%' December 2014.

Particulars Rs. Rs.
Opening stock 10,000
Purchases and sales 40,000 100,000
Sundry Debtors & Creditors 30,000 8,125
Plant & Machinery 35,000
Freehold Premises 24,000
Salaries 5,000
Wages 6,575
Carriage Outward 375
Printing & Stationary 400
Bad Debts 500
Provision for Bad debts 225
Trade Expenses 750
| Cash in Hand 5,250
| Capital 50,000
Insurance 500
158,350 158,350

Adjustments:
(a) Wages payable Rs. 500
(b) Bad debts provision to be adjusted to 2% on debtors.
(c) Allow interest on capital at 5%
(d) Closing stock valued at Rs. 15,000.
Required: Prepare the Trading and profit and loss account of the business for the year ending
31 December 2014 and a balance sheet as at that date.

A »




(xi)

(xii)

(xiii)

{xiv)

(xv)

(xvi)

(xvii)

(xviii)

(xix)

(xx)

All the transactions related to credit sales are recorded in:

(a) Sales return book (b) Sales book

(c) Cash book (d) Credit note book

The money can be deposited into bank by means of:

(a) Cash book (b) Cheque book

(c) Pay-in-slip book (d) Pass book

Bank Reconciliation Statement is prepared by:

(a) Banker (b) Customer’s accountant
(c) Auditor (d) Manager

It is prepared to determine the gross profit or gross loss:

(a) Trading account (b) Profit or loss account
(c) Balance Sheet (d) None of these

Interest due but not received is an:

(a) Outstanding expense (b) Accrued income

(c) Prepaid expense (d) Unearned income
Adjusting entries are made:

(a) During the accounting period (b) At the end of accounting period
(c) In the beginning of the year (d) At any time

Which one of the following is not considered the permanent part of the accounting
records?

(a) Journal (b) Trial balance

(c) Ledger (d) Work sheet

A statement which is prepared to ascertain the net income or net loss for a specific
accounting period is called:

(a) Position statement (b) Statement of condition

(c) Financial statement (d) Bank reconciliation statement
Which one of the following is appeared in the balance sheet?

(a) Revenue expenditure (b) Capital expenditure

(c) Deferred expenditure (d) Bothb & ¢

If a liability is recorded as income, it will be considered as:

(a) Error of commission (b) Error of omission

(c) Error of principle (d) None of these



MODEL PAPER “PRINCIPLES OF ACCOUNTING”

Intermediate (Part — I) Examination 2015

SUBJECTIVE
Time: 2:30 Hours Marks: 80
PART - |
Q.No.2: Write short answer to any five (5) questions. (2x5=10)

(i)  Define Accounting.
(i)  Define “Money Measurement Concept”.
(iii)  What are the three basic elements of accounting equation?
(iv)  Define “Double Entry System”.
(v)  Define the term Journal.
(vi)  Whatis “Trial Balance”.
(vii)  What is meant by dishonor of bill of exchange?
(viii)  Write the names of four subsidiary books.

Q.No.3: Write short answer to any five (5) questions. (2x5=10)

(i)  What is contra entry?
(i)  Define “Bank Reconciliation Statement”.

(iii)  Differentiate between “Gross profit” and “Net profit”.

(iv)  Pass the adjusting entry for depreciation.
(v)  What do you mean by work sheet?
(vi)  Define income statement.

(vii)  Give two examples of capital expenditures.

(viii)  What is a suspense account?

PART -l
NOTE: Attempt any THREE (3) Questions. (20 x 3 =60)
Q.No.4:
An Owes B a sum of Rs. 1,500, on 1% January, 2015, he accepts a bill for the amount for 3
months drawn on him by B.B gets it discounted with his banker for Rs. 1,450. On the due date
the bill is dishonored and the bank pays Rs. 20 as nothing charges. A pays Rs.400 in cash and
accepts another bill for the balance together with interest of Rs. 30 for two months. On the due
date the bill is honored by the acceptor A.
Required: Pass the Journal entries in the books of B and A.

Q.No.5: The balance as per cash book of Aslam Traders on 31% January 2015 was Rs. 19,370.
1) Cheques amounting to Rs. 2,820 issued to a creditor and entered in cash book were not

presented for payment.
2) Acheque for Rs.1,750 received from universal Ltd and paid into bank was dishonored.

ﬁﬁ Pe ¥\
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Q.NO.7
(a) Cost of a new machinery.
(b) Legal expenses incurred in an income tax appeal.
(c) Cost of air conditioning the office of the general manager.
(d) Cost of acquiring the goodwill of an old firm.
(e) Cost of redecorating the cinema hall.
(f) Carriage paid on goods purchased.
(g) Repair to furniture purchased second hand.
(h) Amount spent on uniform to the staff.

Required: State with reasons whether the above expenditures are capital expenditures or

revenue expenditures.

Q.No.8
(i) Legal expenses Rs. 3,000 paid to lawyer have been wrongly debited to his personal
account.
(i)  Wages paid Rs.2000 wrongly debited to custom duty.
(i)  Trade expenses Rs 180 posted in ledger as Rs. 810.
(iv)  Asale of Rs. 3,000 to A was wrongly debited to account of B.
(v) sales book was over cast by Rs.3000
(vi)  Sales returns of Rs.500 were taken into stock but no entry was passed in the books.
Required: Pass journal entries to rectify the above mentioned errors.

Q.No.9: (a)
(i)  Mr. Farooq started business with cash RS. 84, 000
(i)  He purchased goods for cash RS. 13, 000
(i)  He purchased furniture costing RS. 2, 000
(iv)  He sold goods for cash Rs.3000 costing RS. 1, 800
(v)  He paid salaries RS. 1, 200
Required: Show the effects of above transactions on accounting equation.

Q.No.9: (b)
2015 RS.
May 01: Commenced Business with Cash. 250,000
May 03: Goods purchased from Tanveer on credit. 10,000
May 08: Purchased type writer from Muzammal. 10,000
May 15: Cash sales to Rahim. 6,000
May 20: Paid salary to clerk. 3,000
Required: Record the above transactions in journal and prepare cash account.
[
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Model Paper Computer Science Objective
Intermediate Part — | (11" Class) Examination Session 2015-2017 and onward

Total marks: 15

Paper Code Time Allowed: 20 minutes

Note:- You have four choices for each objective type question as A, B, C and D. The choice
which you think is correct; fill that circle in front of that question number. Use marker or pen to

fill the circles. Cutting or filling two or more circles will result in zero mark in that question.

180 Question A B C D
Anoth f i 3 ; i
| nother r_1a‘me or main Secondary Permanent Primary Tupe Storage
memory is: memory memory storage
Which is an example of De =
2 Fakn Sandard? ANSI ISO SNA IEEE
A telephone conversation | Full-duplex | Half-duplex Simplex
3 is an example of: transmission | transmission | transmission Asynchronous
M
g | Moy productsare ATM ROBOT CAD CAM
designed by using?
CPU includes all of the Peirnai
5 | following components — Y ALU Control Unit Register
EXCEPT: storage
CPU consists of th 3 . i i
o O. . CU and Main | Control Unit Main Cperaup
6 | following parts: memory and | system and
memory and ALU o
storage application
Which is faster? ; i
7 ich one is faster RAM i sgheter Hard Disk
Registers that collect the ;
f Instruction Storage
8 | results of computation are 5 Storage A Accumulator
i pointer registers
called:
The “brain” of the
9 | computer that executes CPU RAM Motherboard | System unit
the instructions is called:
Which one is NOT a virus? - ;
10 Trojan horse | Logic bomb MCA fee Reflof
11 Yolmaasis the mos Sun System Microsoft Hewlett ANSI
popular product of:
jg | Feseseiupeption s Format Insert Edit File
present in which menu?
In MS-Excel, formula L
13 - : > = — <
beings with:
ISP stands for: International Internet Internet .
: 3 . Internet’s
14 Service Service Service Service Part
Provider Provider Provision Y
Software used to access
15 she fritsenst isallad: Browser Packaged Spreadsheet HTTP




Model Paper Computer Science Subjective

Intermediate Part — | (11" Class) Examination Session 2015-2017 and onward

Total marks: 60 Time: 2:10 hours
SECTION ----mmmmmm-]
2. Answer any Six (06) parts from the followings: 6x2=12
(i) Describe input devices.
(ii) What is touch screen?

(iii) Define the purpose of facsimile.

(iv) Briefly describe De-Facto standard.

(v) What is the use of Network Interface Card (NIC)?

(vi) Define token ring.

(vii) What do you know about parallel data transmission?

(viii)  Write any two examples of guided media.

(ix) List down names for any two application software.
3. Answer any Six (06) parts from the followings: 6x2=12
(i) What is mean by Computer Aided Learning?

(ii) Define the term Robot.

(iii) Why the RAM is called volatile?

(iv) Define EEPROM.

(v) Briefly describe the function of address bus.
(vi) Define the purpose of stack pointer.

(vii) Describe compiler.

(viii)  List four important antivirus programs.

(ix) Who is responsible for data security?

4. Answer any Six (06) parts from the followings: 6x2=12
(i) What is the use of Control Panel?

(ii) Define extended partition.

(iii) Describe character formatting?

(iv) List some uses of word processor.

(v) What is the difference between active cell and passive cell?

(vi) Differentiate between workbook and worksheet.

(vii) Define the term uploading.

(viii)  How web pages are created?

(ix) List any two important search engines.



SECTRON —eomsss 11

Note: Attempt any three questions from the followings. 8x3=24

Q.5
Q.6
Q.7
Q.8
Q.9

What is Software? Explain types of software.

Explain types of network components.

Write a short note on MODEM also explains its types and features.
Explain the Fetch-Decode-Execute cycle of CPU.

What is backup data? What is the purpose of backup? Discuss the different types of backup.

(8)
(8)
(8)
(8)
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oll No. _ Tunc. 30 Mmutcs:"_" i
Note: Write your Roll No. in space provided. Over-wrltmg,” '
pencil will result in loss of marks, =
Q. No}_‘ (a) Tick (V) mark the right choice o he _
(Modern Prose and Heroes) Part-1
i. He asserted that God put those tonszls in hzs 0
() claimed (b) retorted ;
ii. Wishes did not come truednthis life.
.1) Dreams (b) Hopes
. Two million volumes have been prese:
((1} borrowed (b) purchased
(b) Fick (V) mark the right chmcc ofthc'fol
dured Hlerooes) Part-11,

The Tand of thirst and death. was an area

{‘n} fimous (b) notable
o At twenty, Fleming received a share in |
(;l) property (b) heritage
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Model Paper 2013-2014
Intermediate Part-II English (Elective)

Objective
Time: 30 Minutes

Xoll No.

Marks: 20

Note: Write answers to the questions on the objective answer sheet provided. Four
possible answers (A), (B), (C) and (D) to each question are given. Which answer you
consider correct, fill the circle in front of (A), (B), (C) or (D) with pen ink to each question.

(A) The Merchant of Venice
I. Portia comes to Venice disguised as a

(a) Teacher (b) Lawyer (c) Seller of slaves
2. During the trial Shylock and Gratiano many times called Portia:-
(a) Joseph (b) Christ (c) Daniel
3. Bassanio gave away his wife’s ring
(a) Willingly (b) Unwillingly (c) Grudgingly

4. With whom Jessica elopes?
(a) Antonio (b) Bassanio (c) Lorenzo
5. Shakespeare flourished during the period of Queen:-
(a) Elizabeth (b) Florence (c) Victoria
(B) A New Anthology of Poems
6. The unborn child wishes for:-

(a) Money (b) Toys (c) Education
7. The old woman wants to have in her room a;-
(a) Heater (b) Radio (c) TV
8. In “The Express” the train glides like a:-
(a) Queen (b) Dead body (c) Donkey
9. According to the poet of “Time, Gentlemen, Time”, clocks create:-
(a) Joy (b) Sorrow (c) Trouble
10. The Indus mirrors:-
(a) Dirty shadows (b) Elegant houses (c) Shipwreck

; (C) Under the Greenwood Tree
11. Hardy flounished during the period of:-

(a) Elizabeth (b) George (c) Edward
12. Miss Fancy Dav is a in Mellstock.

(a) Tiller (b) Tranter (c) Teacher
13. Seeing Fancy in her cloak, Dick was really:-

(a) Pleased "~ (b) Amazed (c) Over powered
14. Mellstock was situated in:- '

(a) Island (b) Woods (c) Danger zone

15. Fancy spent her Christmas holidays at the house of her:-
(a) Father (b) Friend (c) Lover

Choose the correct antonym of the underlined word.
16. We carefully place our shots.

(a) Sorrowfully (b) Recklessly (c) Often
17. The trains would cease to run.
(a) Start (b) Fall (c) Fly
8. He has surely power.
(a) Strength (b) Weakness (c) Insight
19. Life would be charming.
(a) Attractive (b) Impressive (c) Ugly
20. She moves entranced.
(a) Awoke (b) Swiftly (¢) Depressed

5
(d) Fanciful Iover
(d) Moses
(d) Enviously
(d) Tubal

(d) Isabella
5

- (d) A better atmosphere

(d) Clock

~(d) Lark

(d) Delight

(d) Tall trees
5

(d) Victoria
(d) Voyager
(d) Dizzy
(d) Factory
(d) Brother
- 5
(d) Rarely
(d) Kill

(d) Wisdom
(d) Easy

{d) Crowded




Intermediate Part-II English (Elective) o

Subjective

Roll No. Time: 2: 30 Hours Marks: 80

Note: Write same question number and its part number in answer book, as given in the
question-paper. -

(Section-I)
1 Keeping in view the poems “Prayer Before Birth”, “Ducks” and “Across the Indus”,
answer any SIX of the following questions. 6x2=12

(i) Describe satire in the poem “Prayer Before Birth”,

(ii) How do the clever hired men approach the ducks?

(ii)  What do the naked children in “Across the Indus”?

(iv) Comment on the style of the poem “Prayers Before Birth”.
(v)  Describe in five lines how the ducks migrate to Pakistan.
(vi)  Why does the city look ugly in “Across the Indus™?

(vii) Write down any one of the wishes of the unborn child.
(vii) How do the duck add to the scenic beauty of the area?

(ix) Comment on the use of imagery in “Across the Indus”.

2 Keeping in view the drama, “The Merchant of Venice” .
answer any EIGHT of the following questions. : 8 x 2=16
(1) How did Portia successfully disguise herself as a Judge? -
(i)  How were tables turned against Shylock?
(iii) What problem Bassanio faces?
(iv) Why was Shylock happy to lend three thousand ducks to Bassanio?
(v) Who is Lorenzo? :
(vi) How does Antonio lose all his future?
(vi) Comment on Casket scene.
(viii) Comment on Trial scene.
(ix)  Describe Portia’s beauty.
(x) What is written in the bond?
(xi) What type of the drama is “The Merchant of Venice”?
(xii) Is the ending of the play justified?
3 Keeping ir view the novel “Under the Greenwood Tree”,
answer any SIX of the following questions.
(1) What does breeze do to the firs as it passes through them?
(ii) What looked awkward to Fancy?
(iii)  Which of the characters do you like the most, and why?
(iv)  Write a few lines about Geoffrey Day. i
(v)  What did the young man sing?
(vi)  Where did Dick Dewy’s family live?
(vii) Why did Dick often want to pass by the school?
(viii) Write a brief note on Hardy’s style.
(ix) Describe the five members of the choir as they came one by one.

(Section-1I)
4. Draw a character-sketch of Antonio (The Merchant of Venice). . OR 15

Critically evaluate “An Old Woman of the Roads”. OR
Draw a character-sketch of Fancy (Under the Greenwood Tree).

6 x2=12

5. Write an essay of 300-500 words on any ONE of the following topics:- 15
(a) Poverty in Pakistan (b) My Aim in Life

6. Write a letter to the editor of a newspaper about the shortage of food items. OR 15

Write a letter to the editor of a newspaper about illiteracy.

plepated ¥, Mafanemr ke A lullale puesiie
G- Simarson Callipe Mellen
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MATHEMATICS ( Objective )

Time: 30 Minutes Marks: 20

You have four choices for each objective type question as A, B, C and D. The choice which you think is correct, fill
that circle in front of that question number. Use marker or pen to fill the eircles. Cutting or filling two or more circles

(.No.1 will result in zero marks in that question. Attempt as many questions as given in objective type question paper and

leave others blank. Write the letter A, B, C or D in the column {write correct option) :dgainst each question, IT there is
[

a contradiction in the bubble and hand written answer, bubble option will be considered correct.
S# | Questions A B C D
Limit Sindx . ; L
1 ey Tl equal to: 1 Zero 3 3
IfFf(x)= , then function is said to ¥ i Fix Nane of thegs
2 be even function: &) X ®) )
d b 1
3 E{togﬁ %) is: 5fnx | 25fogsx o
Limit f(x+8x)-f(x) , ! (2 (0
4 | gmit DEeOI-RY) () (@) @ ©
d - l -] I _t
5 ——(sec  X}= Cot™'x
d pon a® fna % x
——(a
6 o (a™) o 5 a fna a
3 5 P F
A x—§|+};l+ ..... B 1—;1+ir4 ......
7 Maclaurins expansion of {n(1+x)= '2 3 2 3
e L D o L LR
- c i TG R T
.4
8 ISin xdx = 1 2 0 -1
—X
o |
[ e +]
9 ji‘.‘ 3 dx = Esmx+{: eCﬂt EK.{.Q me +C eun Yic
l+x
b b 1 - =b
10 | [fex)dx=: - [t dx - [fe0dx [fex)dx - [fe0dx
] i b ~h =
1
2 % +C
11 I%‘: A In(x+vx2 48 )+e B fn{xﬂ,l'xz_az]
X +a 1 -l X
C mx+vx®-a® y+e D Lt
If §'(x) =1(x), then §(x) is called e Differential
12 of £(): Derivative Integral et Area
32 b
o 1.2
13 I[Jx ,__J;J dx =: ?x —-2X+¢ -i—-x -fMmx+c xzmx+£nx+c XT—MH‘MN
] o (3 - " e
14 IEP (x, y)is pali I c‘?mdmata Coordinates Ordinate Abscissa Origin
system, then x is called:
15 1 he_:.:eni:rmd ﬂfa:trmngie divides each 21 30 3.5 3.4
median in the ratio:
16 | x=-1 isthe solution of the inequality: 2x+3=0 2x+3=>0 x=220 2x+1>0
The radius of circle o e i
PR T il a2 a3
17 P 2px 2+ 6 =0 i ye +f —¢ gr+f-c g°-f“+c g+f -c
18 | Which one is equation of point circle? xz—yz =7 }¢.1+1n,rz =4 x* +}'2=ﬂ b +!r'2 =-1
If the vectors 2i + 4}— Tk &
19 133+ 6] +xk are perpendicular then § 2 1 4
X = ;
The work done by force F through
20 | . b i [Flld{tan® | FdSectd FdSing F-d
displacement d is:




Model Paper Intermediate Part Second Session 2012-14 & onward SRS RE(E
MATHEMATICS ( Subjective )
Time: 02:30 Hours Marks: 80
SECTION -1
2. Write short answers of any EIGHT parts: 16
(i}  Prove the identity: Cosh®(x) - Sinh 2 (x)=1
se (5 Lim Sinx®
{ii} Evaluate K0 5
(iiy If y= xteat 42, prove that g.i:, =4x4y~-1
(iv) Find T‘E{— if xy+yi=2
T _T
{v) Find T if y=5in{2x) at x 2
(vi) If tany(l+tanx)=1- tanx, show that g—i ==
(vii) Differentiate Cot™’ % with respect to x.
)\ d_}f i R
{viii) Find = if Gy
(ix) Find £'(x) if £(x)=(c+1)*
{x) Find stationary points for the function f(x)= 5%° —6x 42
(xi) Define increasing and decreasing function.
{xil) Find y; when y={2x+5)?
3. Write short answers of any EIGHT parts: 16
. . . : dy dx .
1 Pl i ol il =
{i}  Using differentials find i and T if xy—fnx=¢

{ii) Evaluate I {-.le_ ~1-1}2 dx

2
(iii) Evaluatef X dx
4+x
; 1 Cosx
Find | ——
G R jSimcfn St 0
{v) Find jﬂnx dx

(vi) Find Ie_x{C(}stSinx] dx
(vii) Find j‘mn‘*xdx

e )
{viii) Find dx
J i

2
(i) Find _[ (x? +1) dx
1

(x} Find area bounded by vy = Cosx from x = ——;— o x= %

(xi) Graph the solution region of linear inequality 3x -2y =6 in xy-plane.
(xii) Define an ohjective function and optimal solution.
4. Write short answers of any NINE parts: 18
(i)  Find the coordinates of the point which divides internally the join of A(—6,3)and B(5,-2) intheratio 2 ; 3.
(ii)  Find h such that point A(=1,h), B(3,2) and C(7,3) are collinear.
(iif) Convert the equation of straight line 2x —4y +11=0 into two intercepts form.
(iv) Find the point of intersection of the lines x +4y~12=0and x-3y+3=10

{v)  Find the lines represented by X%+ Txy +2y° =0
( Continued P/2)



(1

A
{vi) Find the center and radius of the circle 5% + :'r:.f2 +l4x+12y-10=10
(vii) Find equation of tangent to the circle x4 yz =25 at P(3,4).
{viii) Find focus and directrix of the parabola %% = -] oy
(ix) Find eccentricity of the ellipse 25x° +9y* =225 :
(x) IfOisthe origin and OP = A_B* find point P when A and B are (-3, 7) and (1, 0) respectively.
(xi) Find o, sothat | ai+(a+1)j+2k|=3
(xii) Find scalar 3 so that the vectors i+ }..] +5k and 3i+ ]+lﬂ are perpendicular.
(xiii) Prove that ;K{E+E}+ 5x(E+E}+EX{; +E} =0
SECTION —II  Attempt any THREE questions. Each question carries 10 marks.

Lim ax—-1 _
5. (a)Prove that £ 5 T_IOE‘E

(b)f x= aCos T bSin’0, show that a-n:—i +hbtanf =0

6. (a)Evaluate Ix -Sin"'x dx
(b)Find the distance between the parallel lines 12x + 5y — 6 = 0 and 12x + 5y + 13 = 0. Also find the
equation of the parallel line lying midway between them.
gy apd

7. (a)Solve the differential equation e ml 3ify=0whenx=2

(b)Minimize z=3x + y subject to the constraints 3x+5y 215, x+6y=29, xz20, y=0

8. (a)Find equation of circle passing through A (3,-1),B(0, 1) and having center at 4x—3y-3 = 0
(b)Prove that the line segments joining the mid points of the sides of a quadrilateral taken in order form
a parallelogram using vectors.

9. (a)Find the centre, foci, eccentricity, vertices of hyperbola 9x* +12x—y* -2y +2 =0
(b)Find the volume of tetrahedron with the vertices A(2,1,8),B(3,2),.C(2, 1, 4)andD(3,3,0)
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05

05
05
05

05
05
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Note: Three possible answers A,B and C to each question are given. the choice which you think

is correct, fill that circle in front of that question with Marker or Pen ink. Cutting or filling two or
more circles will result in zero mark in that question.

1-1 |How many Matras are in Teen Taal: :@Lﬁ;?LfVCJt'cf 1 |
16 (C) 14 (B) 12 (A

2|How many Talies are in Teen Taal: :U;uny rﬁyu':‘)tuf 2
4 (C) 3 (B) 2 (A

3| Which Matra Khalicomes upin Taal Keharwa: e 3Tl AR Ub 3
5 (C) 4 (B) 3 (A

4|How doyou pronounce Raag having Six Notes: :ujg _L/:'/Jgi U6 4
Sampurang.s~ (C) Khadavsi (B) Odav 33 (A)

5|How many Notes are in Thath: :Vgl,n/zuﬂ'ﬁbé 5
7 (C) 6 (B) 5 (A

6|How many Notes are in Sabtak: :ugixfgdb@f 6
12 (C) 10 (B) 7 (A

7| How many Notes are in Raag Bllawal: :u_?e"_ﬁ/"gddnkbﬁ; 7
7 (C) 6 (B) 5 (A

8|How many Matras are in Teen Taal: :{_}Lzbf.t':{ Ly 8
Rabab L. (C) Shehnai dL..i (B) Sitar & (A)
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( PART-I oo )

2. Answer briefly any FIVE (5) questions from the following

5x2=10

(i) What is Sur?

(ii)) How many type are of Notes?

(iii) What is Tali and Khali?

(iv) What is Music?

(v) Which is the Wadi Sur in Raag Aeman?
(vi) Write complete names of Surs?

(vii) What is Sum?

(viii) What is Matra?

3. Answer briefly any FIVE (5) questions from the following

5x2=10

(i) What is Lay (Rhythm)?

(ii) What is Taal?

(iii) What is Allap?

(iv) What is Meendh?

(v) What is Sargum?

(vi) What is Bol Tan?

(vii) What is Antra?

(viii) Write the Bole of Taal Dadra?

LA fel L 2 (5)b ke (e B it -2

e/ (i)

S ZALUAT i

T L/ Ub sl b (i)

e U (iv)

S Ui Ak Lv)
_:‘f}u.;;z:u, A(vi)
® & U (vii)

S /174 (viii)

ez ey (58 e S L 3T -3

L ()

S WUk (i)

e T (i)

Se o (iv)
s W)

fe Yurs(vi)

¢ A i)
sy Lot (viii)

( PART-II (12 )

Note: Atempt any TWO (2) questions

U2 fe il e (2 $n

2x6=12

4- Write note on Amir Khusro.
5- What is the difference between Raag and Thath?

6- Write a note on Bansuri (Flute).

i 4
?9 L;(u“ /u’: _ﬂus'; ¥ -5
_é:fg_*.?/?d/; | -6
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Pakistan Studies (Comp) 1232013-147% 3 (NS
Time: 15 Mint -2l 2 L1520
Marks: 10 (Objective) % 10/

vt o e I.E«‘-:‘:.._- FICEIPY u;}’bé S rias L L}’r‘/z,;(ég,t,}b?- Ui & &-2DsIC, B,Aa@b’.’.‘-@ké Js it ﬂ}df}"
iitecomect & & xéz bl v .;Léb’:_}b’:-fﬁy‘jhii.,,b?uﬁud ey d./'f_{/'l - b’_l,.é_./{ s imlie S s e
Ko ez m;bubbie}mw'wa__.ab?handwﬁtten;ﬂbubbie/ﬁ.gg ' DLC,B,A_IAL L L hoption

1. All India Muslim League was established in the year? ?LTJJUL»U’??{{Q(L’L}IL}T 4
1908 (D) 1906 (C) 1904 (B) 1902 (A)
2. Who was the Viceroy of India at the time of the ?t&fa_l/jbufwul:qﬁf::uﬁ/f‘zr‘f & b,
partition of sub-continent?
Lord Wavell Jisiil (B) Lord Curzon SIS (A
Lord Mount Batten WS35l (D). Lord Minto . #41 (C)
'3. Through which Pass Karakoram Highway ?93u¢g§fuu@;ajs/fi,gmt; 3
connects Pakistan with China?
Khyber Pass [fiﬂ (B) Khunjerab Pass . ....flf..ii,u (A)
Gomal Pass Jis (D)  Tochi Pass & i (C)
4 Objectives Resolution was passed in: !Jﬂu’:'-_ﬂ'&;b;-‘} 4
1948 (B) 1947 (A)
1946 (D) 1949 (C)
5. The number of members of National Assembly of :)lﬁJw%léulf"Idﬁﬁutﬂ} 5
Pakistan: .
342 (B) . 275 (A)
100 (D) 237 (C)
6. Mahabat Khan Mosque was built during Mughal ??qufﬁdb@"dl};f_l{!g’“;&ﬁB’QUL;,_}S» 6
Period. In which city it is situated?
Peshawer »s2 (B) Lahore il (A)
Attock £ (D) Multan ol (O
7. The language in which first translation of Holy “fru’ut.ru’(.a’/rbf( Lu r/ af
Quran was made
Kashiiii 6= (B)  Punjabi d (A)
Sindhi &% (D) Balochi S+ (C)

8. The common value among the people of Pakistan is -+Jj2;’u‘:u}@£d@l .8
Language wts (B) Dress JY (A
Habits bl (D) Islam riiers (C)

9. What percentage of the people in Pakistan do not ?CLufJE,_jbb’{:;fuﬂ.&é&iyL:fg 9

get pure drinking water? ' _ _
60 (D) 50 (C) 40 (B) 30 (A)

10 First of all Pakistan was recognised by: “L?J"A_.JJKE.«—_...J:U‘”' 10
lran gl (B) Kawait ‘_.,_.,J’ (A)
Saudi Arabia /0> (D) Indonesia skl (C)

o ‘_,,&477 S R 3 de*’—c( Ak
%{ m ;’?’C/"‘"’"‘?’ W /Zq.m g Sen?
il Jiop gy Lo RS ///‘EUL" e




¥tan Studies (Comp)

#U92013-14¢ 3

S

(DY b

1e: 1:45 Hours ll- | i & 1:45.23,
Marks: 40 (Subjective) &1 40: 4

NOTE: Section | is compulsory, Attempt any two qu

2. Write short answers to any SIX questions (2x6=12)

I
ii.
i,
IV,
V.
Vi,
VI,

Wil

_é/;l,b’ﬁi.:’ Ufr(Z)JJc'_.JJQ_.ufrJJ.A?-.g_ S Jsle> oy

estions from Section ||.

Sectionl (JiL»)

Write down two objectives of Khilafat Movement.
Write the names of two educational institutions
established by Sir Syed Ahmad Khan

Why did Quaid-e-Azam lay the foundation of the
State Bank of Pakistan?

What is meant by Provincialism and racialism?
Describe the importance of Northem Mountains,
What is Map Projection?

Describe the importance of objectives Resolution.

Write two powers of Supreme Court.
What is the difference between Federal Minister
and Minister for state?

3. Write short answers to any Six questions,

l.

Vi
il

Viii,

Write the names of four famous fairs and urses of
Pakistan?

Write the names of two educational institutions
established under the influence of Aligarh Movement.

Write the names of two Poets of Kashmiri Language.
What are the topics of Pashto Poetry.

What is National Integration?

Why democracy is essential?

What is heavy industry?

What is meant by Foreign Policy?

What is meant by the administrative triangle?

'{L.f_ff“m[,te/‘?éu)ly{rj_d’f 2
_éfl»um.ﬁ_-;au&{f" ]
-g?:téww Sl o, i
?qug?getfut:@q?_é&';f’m i
?.:l'_)l'/y::_.d?d'jﬂ«.:;_‘f'i,r" v
-é@%,qﬁf&u:}l;{__d? vV
P%%féu:%{.___{ Vi
et F i
A--:....».':-b_fﬁluéu:»’?f-’,;' Vil

£ L'éu“/'g_)’:.;cﬂ_/}uﬂ{};d bs  ix

-é';fpyﬁﬁfﬂujbf{c.df 3
_&frtiu,wﬁ,ruﬁéﬁgﬁuw’_g i
LAl LE LS f}z,;_f?-téuymaﬂ i
LAl gt i

et L G FE52 iy

-E -
el e Grgd v

(2x6=12)

Y Unfusd Gk’ i
Sslrle ea s vii
‘et Lot
S sl U gF B i

Vil

(UA28L ) Sectionll (rno)

Explain the ideology of Pakistan in the light of the
sayings of Quaid-e-Azam.

Discuss the features of ancient Indus Valley
civilization.

Explain the relations between Pakistan and India.

L Ws il

pe V-

o f5 81, pESL]
DT Iy 2 7

R P LA ¢ ~p5Ao

_a’@u,g’ur{b,ﬁatﬁ;meaﬁf’rﬂ:' 4
_’_éugp_..:,kn"}d;)’d)uffj 5

_éaﬂfgfaﬂh}:ﬁc’}w;ﬂc}t@ 6

W 2 S

— Tu? 2

&.L‘-L.-:/{Jrlh 3




"o yB" e J3lo D
ol Bk £ L
e
20:/4F 2230 =y
D4ICB cA..,.,Le.-f(;t;)4£Jtr,;_e‘é@(@m&’umgméamyra TR Y
LDLCBAZE L A1y 36320 eon Wtz i Ll
_.Q_‘J/fc_.(ﬁyd/ﬂt.l,wj&_}b._gc:.ufuﬁbé’:é:&'_l/

St AdB s " Gaf It 3 ()

Ua2imt ) Ul @) oe s (L) Gut ()
el i)
b () sbesls (@) 4 () A ()
, 18 S ol T Su L olosza (i)
u-‘-'(u-.@bi () Sl (@) ok () ey ()
etz Bezls (v
A0 () oLl (@) P () S
SHEL L SH B bt (v)
Gbtnlt () 6™ @) $s# (L) AAED)
- i) (Vi)
£ () 2 @) Foud () O ()
Se o)LL mipb L I B (vii)
Ftr ) A (%) JL ) lals (o)
W ibar s Lot PH L (i)
10 A et (o) Gl ()
S bW SbnE" (i)
o2 () bl (@) i () b (L)
e Ay F (%)
Y3 () £/ @) A1 () el (L)
e UAAEI bz (i)
() i (@) 32 (L) SE3W ()

S Lk KBTI FEL 2" (xii)
AL () ¥ pLle @) B () KUy ()




ok (5)
e ()
by ()

K ()
lzlut ()

JF O

Lz ()

A4®)

5

Se Lz etiz s Gt (xiii)

ok @) G )
-é.pﬂfﬁ/‘t;w (xiv)

= F0 @) ot () &)
e IPESUABE  (xv)

O] S8k () G (3

Selhiee gl Al et dd  (xvi)

iepp @) Puer () e ()
S V¥ "uldfﬁd-‘a‘@:bel“ (xvii)

osd Gk @) LA (L) FEEut (L)
S A/ utel (xviii)

¢ @) St () 0 ()
WLt IR Bt (xix)
48 @) 6 v ()

Tlﬂ(ﬂtfu(#;c.wufwjd/u};.ﬁLﬁiz:al}:L (xx)
Kol>s) (&) K35 (L) k! (1)



80:48

"oy e J3lo &

= Y
oL dedrfl & Ls

d&Lo
& 2:30:=%
Ul
2 fe 2L w5 (S 2 )y
K T T B gk AFLILE S (i)
W Bl e T ELNDE IS i)
Wi e 2L JEItUM i)

£ o bl 2 bl GGl wl  (iv)

S g )

2SS e (vi)
S22 L a5 (S 3 A

-2 Yol s St (i)

s =D Ml JosutS6T (i)

Sagle 2 7 (i)
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Model Paper Physics Objective

Intermediate Part — | (11" Class) Examination Session 2015-2017 and onward

Tota! marks: 17

Paper Code

Time Allowed: 20 minutes

Note:- You have lour choices tor cach objective type question as A, B, C and D, The choice which you
think ts correet: fill that circle in front of that question number.  Use marker or pen to {1l the circles.
Cuting or filling two or more circles will result in zero mark in that question.
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Veloaty of sound is independent off

 QUESTIONS

' The unit of Pressure n base units is
I
|

The complete Equilibrium of a body implies
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Athghest pomt. the vertical component of

veloeity of Projecule becomes
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kmiSee™! . The escape velocity on the
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Model Paper Physics Subjective

Intermediate Part — 1 (11" Class) Examination Session 2015-2017 and onward

Total marks: 68 Time: 2:40 hours
SECTION —--—-memmeeee H

Write answers of any EIGHT questions. (8x2=16)

(i) Deline dimension. Check the correctness of the equation v=1'4 by the principle of
Homogeneity of dimensions.

(11) Brictly explam the two drawbacks 1o use the period of simple pendulum as a time
standard,

(1) Assess the total uncertainty in the final result ol a timing experiment with the help of an
example,

(ivy  Derernmine the dimensions o pressure and density.

(v} Linder what condition would a vector have components that are equal in magnitude.

(s Justiby the statement A body cannot rotate about its centre of gravity under the action ol
118 own welght™

(viny L8 = 00 Can it be concluded that 1 and B are perpendicular to cach other? Support
yvour answer with a proof.

vy Why fog droplets appear (o be suspended in air”?

(x) - Discuss the sign of aceeleration due o gravity for a ericket ball thrown upward, for its
upward and downward motion.

(x) Can the velocity of an object reverse the direction when acecleration 1s constant? Justily
with an example.

(x1) tis advisable to tasten the seat belts during a fast drive. Why is 117

(xit)  Explain bow would a bouncing ball behave in cach of an clastic und inelastic collision with
Noor of room.

Write answers of any E1IGHT questions., (8 x2=106)

{n When a rocket entery the atmosphere. why does its nose cone become very hot? Where
does this heat energy come from?

{11) State the work energy principle. Express it in equation.

(imy  While caleulating the Absolute Gravitational potential energy, why s the distance between
miinity and surface of carth is divided into very small steps.

fvy Whatis meant by moment ol Inertia? Give its significance.

(v) How s artificial gravity created in an Artificial satellites.

(viy  Centripetal foree and centrifugal reaction are equal in magnitude but opposite in dircetion.
Why these forees do not balance each other.

(vir)  What happens to the period ol simple pendulum if
(a} its length s doubled
(b) s suspended mass is doubled.

(viry - Show that in SHM, the acceleration is zero when velocity is greatest and the velocity is

scro when the acceleration 1s greatest?

(ix)  Why can we not realize an ldeal simple pendulwn.

(N) What features do longitudinal waves have in common with transverse waves.

(1} Why does sound travel faster in solids than in gases’?

(xi1) Justily the statement “Velocity of sound in a gas is independent of pressure of the gas™

Wrife answers of any SIX questions, (6x2=12)

(1) Deline coherent sources ol light. How two light beams ¢an be made coherent.

(11) How 1s the distance between interference tringes is affected by the separation between the
slits of Young's double shit experiment?

(i) How would you distinguish between unpolarized light and plane polarized light

(1v) Name and explain any two of major components of a fiber optic communication svstem.

(v} IHow the resolving power of a compound microscope can be inereased.

(vi) What happens to the temperature of the room. when an air conditioner is lett running on a
table in the middie of the room.

(viy - What is meant by tripple point of water. What is the value ol Absolute temperature of
tripple point of water.

(viny - Can the efficiencey ot a carnot engine be 100%? Justity vour answer with proof.

(i) Normal Human body temperature is 98.6 “# . Convert it into €™ and K.

P.T.O.



SECTION 11 {Essay Type)

Note:-  Attempt any three questions, (8x3=24)
S, Define Rectangular components ol a vector. How two vectors can be added by Rectangular
component method. 1+4

. . . . R .- . . e .
(by A ball is thrown with a speed of 30 m sec™ in a direction 30 above the horizontal.
Determine the height to which it rises.

-
3

6.(a) What are geostationary orbits. Derive an expression for orbital radius of a Geostationary orbit 1+4
(by Tlow large a force is required to accelerate an electron (m=9. 1 x 10 " ke y from rest o a

speed of 2x107 msee™ through a distance of 3.0 ¢ 3
7. (a) What 1s the limitation of Newton's formula for speed of sound in air. How did Laplace
correct it 144
(b) A simple pendulum 1s 30¢m long. What will be its trequency of vibration at a place
where ¢ '9.8m sec” 3
8.(a) Explain the principle. construction and Magnifying power of a compound microscope
with the help of'a ray dingram . [-212
(by Alight is incident normally on a grating which has 2300 lines/cm. compute the wavelength
ol a spectral line for which the deviation in 2™ order is 1357 3
9.(a) Lxplain the carnot cyele and caleulate the eflicieney ot a carnot heat engine. 2-3 - 3
(by Water [lows through a hose whose internal diameter is Tem at a speed of Tm sec” . What

-

. - .- . -l
should be the diameter of the nozzle il the water is to emerge at 21m sec” . 3
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D C B A Questions /| = Uy A
g/ e ! U R S
Karachi Leipizing London Paris First laboratory of psychology was established in:
7 B i K e QIR | 2
Hunger Fatigue Sleep Achievement | Which motive is learned?
12 S & b oL i a i S S| 3
All these Associative Motor Sensory Which nerves are discovered by Charles Bell?
Al Ju g Jet ‘e t’ll-y(g._)/b)'w K@‘:’ 4
Hallucination Idea [usion Image False perception of stimulus is called:
A ; ) 1 Loyl T s
How many basic principles of learning?
oy Jo o S e Ul kF | 6
Language Thinking Idea Imaginary | Which tool of thinking is the most important?
</ S = Ul o4l ‘L&}’Ea}/’"g};’?}[ 7
Experiment Hypothesis Questionnaire Observation | Each research begins with:
yo2 5% H ey L el T AL s | 8
Vestibule Cochlea Eardrum | Round window | Where are actual auditory receptors located?
L}f; Bl 7 <2 Sl (’Lu’il:‘..«(flf’:f 9
Achievement Fatigue Temperature | Material motive | Which one is secondary motive?
Ul & g7 o U Id rKe GL | 10
Simon Binet Terman Stren Who introduced the concept of 1Q?
o 1 Vo %) ?LZuf&Lch“/b/ 1
Watson Adler Roger Freud Who was the founder of behaviourism?
o o S
s A 3 5 .u;(uuﬁéu 12
How many types of memory?
vl i) 1 o e e Uk 13
Simon Freud Adler Watson 1d, ego, super ego belongs to:
Y- pAlE ~Uly Shzor’ Qbét»nu’fng‘ﬁr’[;uﬁ‘@}véy 14
Variable Observation | Questionnaire Sampling | Which is the important research tool in survey method?
L L EL LX) 15
3 6 3 4 According to Freud how many stages of development
up to adolescence?
Bt | U Bl A St S et/ L b AIE 4| 16
. ‘ - fd
None of these Both A & B Adrenaline Epinephrine | Adrenal glands secrets which hormones?
Bussss L bw‘:r g/f Ol/}/d_w _LL:/JEJ’/L,(J/.L_)[?Z 17
Emotion is a state in which an individual become
Woodworth Shahter Canon Bard James Lange

aggressive. Who said?
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( Part-1 J3) 4aa )

Write short answers of any EIGHT parts.

ez = 8

Describe industrial psychology. -é ul/:( =& Lf/ @)
Define introspection. <é - /U/(f boalz (i)
Explain sensory threshold. -é o2l d/ /.:}Z:f (iii)
What is nerve impulse? “L (}/ L&Ju‘; (iv)
What is the role of occipital lob? “Ld ;(l{ 48 1 L/u" (f'& )
Define psychology. sy /’J =L (vi)
What is white matter? ?uj’ 4/45 psbai  (vid)
Explain pacemaker. <é eolod £t (viii)
Discuss about three steps of research. -é Yl J’ yuf&[):‘; (ix)
Define variable. <é - /76/0/3’) (x)
Define cognition. fes /Lf:.d;’; (xi)
When does the problem occur? S bwrlig JJ/ (xii)

Write short answers of any EIGHT parts.

_,u;/”&vw Tedy

Explain myopia. - é ol dy ﬁu Y ()
What is conditioning? Sy Seb S i)
Define motive. S ISE i
Define learning. - é -’ /YJ J ol (iv)
What is illusion? YU W)
Define perception. <é - /."d/ SO (vi)
Explain the localization of sound. Sty y/:.J BT (vii)
Describe the types of memory. -é Jer lﬁ'urﬁ b (viii)
Define operant conditioning. S 7 Y b / Skl (ix)
How the motive determine our behaviour? Ut L/ u"’J d/ K/b/z,/lr_ff (x)
Which are the unlearned motives? Ut e de L»r/ (xi)
What is achievement motive? fe VA6 (xii)

Write short answers of any SIX parts.

._,w/”&vw:.d/

Define intellegence. -é - /JJMLJ (@)
Define emotion. -éu}}/}(,(ulij (i)
What is meant by WAIS and WISC? fesly “L/:. WISC sl WAIS  (iii)
Explain conscious. fesly g&—_/ﬁ (iv)
What is the roll of autonomic nervous system in emotions? ?LL/’}/’/ gfu: e bl 1 f?t&)d/g’bi W)
What is the last expected respone of stress? St L;U’Z;fdf' T“L,; (vi)
Define thinking. e F (vi
What is meant by introverts? ?LL}’/ y/cu.'f Gkl (viii)
Define ectomorphy people. fesly g:_;i / / (}//}g I (ix)

“t A 08 Ly & pfe izl ety (3 calyd dan

Part - I, Attempt any THREE questions. Each question carries 08 marks.

Write experimental method in detail.

Explain central nervous system.

Define memory and write its types.

Explain the structure and function of ear.

gt e S PO
-é@lﬂ}‘fd‘?@d/}
ot S YA SE S S8 A1y

What is the roll of primary motives in the formation of human behaviour?

_E fuifics SSse
R Y S 1

-3

-4

-5
-6
-7

-8
-9
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15. The prob density function is represented by
| (a) Smooth Line (b) Smooth Curve
16. The parameters of Binomial distribution are
(a)P and q (b)q and n ©n
17. In a Hyper geometric distribution the trails are |
(a) Independent  (b) dependent  (c) “a” and

Sl P13 w

qu




. STATISTICS - PART 1
(SUBJECTIVE) (SECTION - I

Q.No.2 Write the short answers any Eight (8) questions of the following.

1. Define parameter and statistics.
2. Distinguish between primary and secondary data.
3. What is meant by measure of central tendency.
4.  For a certain distribution if ) (x-15) =35, (x-18)=0, Y'(x-211)= -21
What is the value of A.M and Why?
5. Describe the properties of good average.
6.  Give Two merits and demerits of geometric mean.
7. Give the difference between weighted and un-weighted index numbers.
8. What is an index number give any two (2) uses of index number.
9. If  YPnQn=530, ) PoQn =470 find current year weighted index number.
10.  Explain chain base method.
11.  Compare simple and composite index number
12. Describe only the steps involved in the construction of index number.
Q.No.3. Write the short answers any “8” questions of the following,
. What is Histogram and which type of qualitative data it may be constructed?
2. What is pie diagram?
3. Distinguish between one-way and two-way tables,
4. What do you understand by classification and tabulation?
5. What can you say about skewness.
Median =26.01, QI =13.77, Q3 =128.29
6.  If distribution has mean 1403 and mode 1487. What can you say about Skewness.
7. Define the term Kurtosis.
8. Define range and discuss its uses.
9.  Define the terms
(a) Random Experiments (b) Sample space
10.  Define the terms “Equally likely events” and “Exhaustive” Events and give one




. (SUBJECTIVE)
(SECTION II)
Attempt any Three “3” question of the following and Each question carry equal marks.

Q.No.5.  (a) The given table shows the distribution of the maximum loads tons supported by
Certain cables produced by a company. Determin
(a)Medion (b) Mode
Maximum
93-9.7 | 9.8-10.2 | 10.3-10.7 | 10.8-11.2 | 11.3-11.7 | 11.8-11.2 | 12.3-12.7 | 12.8-13.2
Loads
No.of Cables 2 5 12 17 14 6 3 1

(b) Give the empirical Relation between Mean, Median and modu.

Q.6) Valuate standard deviation and co-efficient of variation from the following data.

Groups 25-50 50-75 100-125 125-150 150-175
Frequency
(b) What can you say of sleekness in each of the following case 4)

i) Q2 =26.01, Q3=3829 Q1=13.73
ii) Mean = 1403 and Mode = 1487

Q.7) a) an inquiry into budgets of the middle class families in a city of England gave the

following information.

EXPENSES ON FOOD RENT CLOTHING FUEL MISC
35% CLOTHING 20% 10% 20%
15%
Price (1928) 150 30 75 25 10
Price (1929) 145 30 65 23 15

What changes in cost of living figure of 1929 show as compared to 1928?
b) A bag contains 4 red and 6 gree balls out of which 3 balls are drawn. Find the
Probability of drawing
1) 2 red and 1 green balls (ii) All red balls
Q: 8: (a) There are three children in a family, Let the random variable denture the number of

boys in a family. Write down the possible outcomes and the valus assigned by the random

variable assuming equal chances for boys and girls.

b) Let X be a random variable with Prob. Distribution as follows.

X 1 2 3 4 5

B¢ ) 0.125 0.45 0.25 0.05 0.125

|
Find Variana. N\Q‘

\\
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(STATISTICS - 1°" YEAR)

Q.N;). 1; Tick the correct answer
1. Group data is

(a) Primmary (b) Secondary (c) Raw data(d) None of these
2. The heading for different rows are called.

(a) Stub (b) body (c) Source Note  (d) Row Captians
3. The Sum of the deviations taken from on the matic mean in

(a) Zero (b) One (c) Two (d) Three
4.1f X=40, Mode= 42 then the distribution is

(a) +ve Skewed (b) —ve Skewed (¢) Symmetrical (d) All of these
5. Geometric mean is possible only for

(a) Negative values (b) —Positive Values (c) Imaginary (d)Decimal Valuc;c.
6. In a symmetrical distribution

(a) =0 (b)Bt=3, (c)p2=3, (c)B2>3
7. Second moment about mean is

(a) Zero (b) One (¢) Variance (d) Standard Deviation ‘

8. Range is

(a) Absolute (b) Relative measure  (c) Percentage  (d) Rotio |
9. Simple index number has/have involve commodity/commodities. ‘
(a) One (b) Two (c¢) Three (d) Four
10. In chain base method the base period is
(a) Fixed (b) changed (¢) Constant (d) None of these
11. The link relative are not directly
(a) Related (b) Converted (c) Calculated (d) Compareable
12. The probability of drawing one spade card is
(a) 1/62 (b) 13 (c) 4/13 (d) 1/4
13. In tossing of 2 perfect coins the probability at least on hear occurs is
(a)1/2 (b)1/4 (c) 3/4 (d) 1
14. Bachdigit 0.1.2,......c000000 9 has prob
(a)—-0.4 (b)-0.2 (c)—-0.1 (d)-0.3
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